MABTADRYVERE (557 DIER

(5] (1 )

4R 5H 6H A 8H 9A 108 118 121 18 2R 3A REt

DH2EE 13,983 12,853 14,810 15,065 14,608 14,852 15,711 14,789 15,638 14,550 14,606 17,059] 178,524
SH3EE 15,631 14,853 16,133 15,987 15,973 15,752 16,300 15,883 16,109 15,423 14,612 17,157] 189,813
SHAEE 15,854 15,767 16,567 16,772 17,385 16,346 16,668 17,056 17,375 16,526 16,150 18,375 200,842
SHSEE 16,094 16,582 17,241 17,327 17,237 17,036 17,337 17,015 17,530 16,904 16,864 17,843] 205,010
SHEFEE 16,531 16,907 16,804 17,966 16,853 16,341 17,593 17,041 18,330 17,404 16,652 18,525 206,945
BIERA L 2.72% 1.96% -2.53% 3.69% -2.23% -4.08% 1.48% 0.15% 4.56% 2.96% -1.26% 3.82% 0.94%

(£E] (B4 M)

47 5H 64 A 8H 9H 104 118 128 18 28 3A Rit

DH2FEE 13,482 12,726 14,549 15,069 14,615 14,709 15,938 14,690 15,593 14,488 14,615 16,999] 177,473
SH3EE 15,605 15,005 16,203 16,180 16,043 15,752 16,419 16,057 16,384 15,640 14,938 17,327 191,552
DHAFE 15,909 15,863 16,620 17,121 17,269 16,417 16,755 16,731 17,386 16,591 16,272 18,442| 201,376
SHSEE 16,305 16,775 17,406 17,570 17,307 17,225 17,494 17,074 17,872 17,137 17,105 18,172| 207,443
SH6FEE 16,993 17,042 17,028 18,190 17,109 16,776 17,893 17,458 18,662 17,583 16,621 18,754 210,111
BIER AL 4.22% 1.59% -2.18% 3.53% -1.14% -2.61% 2.28% 2.25% 4.42% 2.61% -2.83% 3.21% 1.29%
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MABIABIZVERE (Abx) DR

(L8] (Bf1: M)
48 58 68 78 88 98 108 115 125 15 28 38 Rt
SH2EE 3,761 3,673 4,074 4,134 4,205 4,161 4,131 4,201 4,149 4,152 3,886 4,475 49,002
SH3EE 4,083 3,984 4,347 4,327 4,628 4,435 4,563 4,481 4,218 4,120 3,676 4,297 51,159
SHAEE 3,993 4,302 4,461 4,298 4,137 4211 4,395 4,328 3,950 4,125 4,249 4,613 51,062
SHLHEE 4,123 4,364 4,549 4,334 4,606 4,343 4,508 4,293 4,151 4,307 4,232 4,394 52,204
SH6EE 4,165 4,534 4,485 4,706 4,664 4,303 4,647 4,410 4,405 4,616 4,475 4,589 53,999
BIZER B L 1.02% 3.90% -1.41% 8.56% 1.27% -0.92% 3.07% 2.72% 6.13% 7.16% 5. 74% 4.44% 3.44%
[2E] (Bf1: M)
4K 5H 6H 7R 8H 9A 108 118 128 18 2R 3B 2et
SH2EE 3,720 3,654 4,001 4177 4,263 4,148 4,373 4,171 4,192 4,120 3,977 4,530 49,327
SH3EE 4,057 4,192 4,510 4,436 4,615 4,415 4,651 4,556 4,379 4,273 3,836 4,342 52,262
SHAEE 4,013 4,324 4,491 4,361 4,261 4,213 4,497 4,323 4,111 4,283 4,349 4,732 51,957
SHLEE 4,312 4,491 4,558 4576 4,648 4,379 4,564 4,433 4,347 4,478 4,388 4,604 53,779
SH6EE 4,415 4,554 4,546 4,800 4,795 4518 4,718 4,666 4,678 4,717 4,452 4,819 55,679
BIZER B L 2.39% 1.39% -0.27% 4.90% 3.18% 3.18% 3.37% 5.25% 7.62% 5.33% 1.46% 4.68% 3.53%
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MABTALRVERE (ARANGERIZTD)) DR

ONZ) (B2 1)
4H 5H 6H A 8H 9A 1083 118 128 14 2H 3A Rt
SH2EE 8,546 7,599 8,769 8,981 8,562 8,771 9,482 8,684 9,477 8,630 8,881 10,448 106,831
SHM3EE 9,566 9,030 9,719 9,663 9,443 9,394 9,676 9,428 9,825 9,520 9,110 10,718 115,091
SHAEE 9,883 9,570 9,979 10,382 11,316 10,184 10,241 10,755 11,436 10,593 9,982 11,556 125,877
SHSFE 9,977 10,241 10,543 10,878 10,660 10,676 10,727 10,732 11,275 10,686 10,655 11,238] 128,287
SH6FE 10,266 10,343 10,104 10,981 10,134 9,946 10,720 10,481 11,750 10,817 10,128 11,581 127,251
BIFER AL 2.89% 1.00% -4.17% 0.95% -4.94% -6.84% -0.06% -2.33% 4.21% 1.23% -4.94% 3.05% -0.81%
(=E] (B4 [)
4R 5A 64 A 8H 9A 108 118 128 15 2R 3A REf
SH2FE 8,123 7,495 8,596 8,926 8,510 8,645 9,482 8,632 9,395 8,602 8,786 10,321 105,515
SH3FE 9,553 8,944 9,610 9,707 9,524 9,394 9,687 9,514 9,945 9,565 9,289 10,864 115,596
SHAFEE 9,895 9,631 10,002 10,685 11,071 10,240 10,207 10,422 11,252 10,467 9,995 11,483 125,349
SHSFEE 9,957 10,277 10,699 10,858 10,687 10,812 10,821 10,627 11,400 10,732 10,722 11,334 128,925
SH6FE 10,446 10,445 10,276 11,096 10,240 10,144 10,934 10,629 11,785 10,863 10,104 11,561 128,525
BIFERA 4.91% 1.64% -3.96% 2.19% -4.18% -6.17% 1.04% 0.02% 3.38% 1.23% -5.76% 2.01% -0.31%
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MABIABIZVERE () DR

ONS) (4L : /1)
47 5H 6H 75 8H 9H 10A 1148 128 1R 2H 3H Rt
DH2EE 1,511 1,415 1,793 1,771 1,661 1,743 1,916 1,725 1,832 1,592 1,671 1,943 20,574
DH3EE 1,809 1,658 1,873 1,806 1,704 1,734 1,864 1,782 1,874 1,602 1,652 1,944 21,302
DAEE 1,800 1,707 1,923 1,895 1,743 1,760 1,833 1,779 1,807 1,629 1,733 2,001 21,610
SH5EE 1,798 1,779 1,944 1,911 1,765 1,819 1,894 1,785 1,902 1,707 1,769 1,995 22,070
DH6EE 1,892 1,811 1,993 2,045 1,833 1,868 1,991 1,924 1,952 1,746 1,825 2,117 22,998

IR AL 5.24% 1.78% 2.50% 7.01% 3.81% 2.69% 5.14% 7.79% 2.58% 2.31% 3.20% 6.11% 4.21%

| EET) (B - M)
48 5H 6H 7H 8H 9AH 108 118 128 18 2A 3R K&+
SH2EE 1,483 1,418 1,785 1,788 1,669 1,745 1,905 1,715 1,831 1,596 1,687 1,963 20,586
SHBEE 1,824 1,694 1,900 1,853 1,717 1,762 1,891 1,801 1,874 1,626 1,649 1,936 21,527
SHAEE 1,829 1,727 1,937 1,890 1,758 1,781 1,863 1,802 1,843 1,662 1,747 2,026 21,864
SHSEE 1,849 1,811 1,950 1,936 1,772 1,840 1,907 1,816 1,927 1,727 1,798 2,026 22,359
SHCEE 1,929 1,833 1,995 2,073 1,856 1,899 2,020 1,946 1,977 1,784 1,852 2,144 23,307

IR AL 4.31% 1.22% 2.33% 7.09% 4.77% 3.21% 5.91% 7.16% 2.62% 3.25% 2.96% 5.81% 4.24%
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== DGHI2FE —e=DH3FE —e—Di4FE BHSFE —e=DH6FE == D 2FE —o=[H3FE —e—[IFE BHSFE —o=DH6FE



